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Q) The dimensions of shear modulus of rigidity are
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Q) Using mass (M), length (L), time (T), and electric curre s fundamental
quantities, the dimensions of permittivity will be

[Hint: F = 4:80 qigz , €& = permittivity; current %
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Q) Which of the following does not have the same dme@
(a) Electric flux, electric fiel %\? ole mo @
(b) pressure, stress, Yo

(c) Electromotiv op ntial dlffectrlc voltage
(d) Heat, p Work
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Q) The dimensions ML™*T =% may correspond to

[Hint: Linear momentum = mass X velocity, Energy ;ien ~= ff;
(a) work (b 'f@%mum
(c) energy density d ese @




AnNS. C



Solution:

ane(w) = Fance xd»\sww = F-

)= (Flld)= MLt K%%é




Q) A unitless quantity

(a) never has nonzero dime@&

(b) always has nonzer%%e |_
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Q) Which of the following quantities has a unit but no dim

- 1 . o
[Hint: F = Ame qj,fz , &9 = Absolute permittivity, F
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Magnetic moment = Current flowing in loop op] dls/»
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Q) Which of the following is not a units of CR?

o~ . __ Charge _ i __ Vo \
[Hint: C = capacitance = Voltage and R = resistance = % gy (E) of a
charge (q) accelerated by voltage (V) = qV) % %
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Q) Units of ;TV are of @
0
(C = capacitance = %, V = potential or voltage, cific\resistance = %; R=

electric resistance and £, = permittivity; cu ent@

[ and d are length and distance) %
(a) charge (b) cu @ (C) time
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Q) Which of the following is not the unit of time ? @
22; ISi)?zl’yC?:; @%%éc“c seC @©
Q% @ %@%




Ans. d



Solution:

Leap Year: A leap year has 366 days instead of 365. (unit of time)

Lunar Month: A lunar month is the amount of time it takes for the Moonto pass through
each of its phases and then return back toits original position. It takes 29 days, 12 hours, 44
minutes and 3 seconds for the Moon .te-compiete one lunar month.-(unit of time)

Solar Day: A solar day is the.time It takes for the Earth:to rotate about its axis so that the
Sun appears in the-same-position in the sky.(unit.of time)

Parallactic Second: Parallactic second.or.parsec is a unit of large distances used by the
astronomers to measure large distances-outside our solar system. (unit of distance)

[1 parallactic second &.3.085 %1013 km
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